What do you know about
Bulgarian language?




1. What type of alphabet do the

Bulgarians user

a. latin
b. Cyrillic
c. Greek

d. Bulgarian




That’s correct!

The usage of the Cyrillic script in Bulgaria was made official in 893.
Cyrillic 1s derived from the Greek uncial script, augmented by letters
from the older Glagolitic alphabet, including some ligatures.

Aa bo BB [ Ag Ee Kok 33 Nu ni
Kk Aa MM Hn Oo IIn Pp Cc Tm Yoy
OX) X x Iy, Yy I w 111 w, b bo I0lo da

Aa b6 Bé Iz Ag Ee K 33 Hu i

Kk Ax Mm Hnu Oo IIn Pp Cc Tm Yy
(OFi} Xx Iy Yy Mw  IIw  bs bo IOl Aa -




A s o o A R o et Tt S

That’s not right!

. Please go back and try again!




2. Are there grammatical cases in the
Bulgarian languager

a. No. there are not.

b. Yes, there are in nouns, adjectives and pronouns.

c. Yes, but only in some pronouns.

d. Yes, but only in nouns.




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s correct!

The Bulgarian personal pronoun and
interrogative and relative pronouns for
people have forms for nominative,
accusative and dative case.




3. How many verb tenses are there in i
Bulgarian languager
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A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s not right but...

- Did you know

Bulgarian has 3 synthetical verb tenses
(present, aorist and imprefect).

Please go back and try again!




That’s correct!

- The Bulgarian language has 9 verb

tenses: present, aorist, imperfect
(synthetic) and future, perfect,
pluperfect, futurum exactum, futurum
preteriti, futurum exactum preteriti
(analytic).




4. How many grammatical genders are there

in Bulgarian language?

a. 2 genders: masculine and feminine

b. 3 genders: masculine. feminine and neuter

c. There are no grammatical genders in Bulgarian language.




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s correct!

Usually, the grammatical gender and the gender
of the person which the word refers to
coincide. For example, xena [Zgna] (woman) in
Bulgarian 1s in feminine grammatical gender.
However, there are some exceptions for words
that can be both 1n masculine and feminine
gender and refer to both men and women, for
example poarnHa [rddnina] (relative).




5. How many grammatical numbers are there

in Bulgarian language?

a. 3 numbers: singular, dual and plural

b. 2 numbers: singular and plural

c. 4 numbers: singular, dual, trial and plural




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s not right but...

. Did you know

In Old Slavonic there are singular, dual and plural numbers. In Modern
Bulgarian there are only residual forms for some nouns from the old dual
number. They are doublets of the plural forms. For example: kpuao [krilo]
(wing) has two plural forms: kpuaa [krila] (wings) (from the old plural
form) and kpuae [krile] (wings) (from the old dual form)

Please turn back and try again!




That’s correct!

has only two grammatical
numbers but in Old Slavonic
there were three — singular, dual
and plural.

- The Modern Bulgarian language




6. What are the vowels in Bulgarian?

2 e/ef) wm g (a5 o (/0 ) v {du/)

Bre (e mUi, g Ual) oo v Gu

e A ¢ av) apu )

die e ot en wAE a0 S N /) e




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s correct!

The mid back unrounded vowel ® (/¥/)

is unique for the Bulgarian language

amongst the other Slavic languages.




7. Is the Bulgarian a pro-drop language?

1. Yes.

b. No.




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s correct!

- For example, the subject in some
sentences can be omitted as the verb
form is conjugated in the specific
persons(BE DR 58 such as:

nABaM [idvam| (I'm coming) rather than
a3 nABaM [az idvam| (I'm coming).




3. The Bulgarian language has unique reflexes
from fit] and tdj. Wihate are the tetlexes? b

a. 9 [t[] and x [7]
b. 1t [[t] and kA [Zd]
c. ¢ [ts] and dz [dZ]

d. None of the above.




That’s not right!

Those are the reflexes in East
Slavic languages.

Please turn back and try again!




A s o o A R o et Tt S

That’s not right!

. Those are the reflexes in Polish.

Please turn back and try again!




That’s correct!

You can find those reflexes in words as

ceerrt [sveft] (candle) and mperxaa
[prezdal (yarn).




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




9. Is there a definite article in the Bulgarian
language?

a. No. there is not.

b. Yes, there is. It is placed before the word it defines.

c. Yes, there is. It is placed after the word it defines.




That’s not right!

There 1s a definite article in the
Bulgarian language.

Please turn back and try again!




A s o o A R o et Tt S

That’s not right!

. Please turn back and try again!




That’s correct!

The definite article in the Bulgarian
language 1S a morpheme SO 1t 1S glued to
the word it defines after the inflection.

For example: macaTa [masata], table-the

(the table)




10. Bulgarian language 1s part of the Balkan
sprachbund (Balkan language area). Which of
the following is NOT a Balkan-related featurer?

a. The postposed definite article.

b. Direct and indirect objects can be cross-referenced (doubled).

c. L.oss of the infinitive.

d. Vocabulary with origin from Proto-Slavic language.




D e o DN O i M i )
A R R s Tt ey

That’s not right!

The postposed definite article is a
Balkan feature.

For example: macaTa [masata,

table-the (the table)

Please turn back and try again!

B B S




That’s not right!

The doubled objects are influenced by the Balkan languages. It
1s done by combining a clitic (weak) pronoun with a strong
pronoun or noun.

For example: Hero ro Buasx Buepa. [nego go vidyah viferal,
Him . LONG him.SHORT saw-1 yesterday (I saw him
yesterday.)

I'eopru ro Buasix Buepa. [georgi go vidyah vifera], George
him. SHORT saw-1 yestreday (I saw George yesterday.)

Please turn back and try again!




That’s not right!

The loss of the infinitive 1s 2 Balkan
feature.

For example: Vickam Aa am. [1skam da
yam| (I want to eat.)

Please turn back and try again!




That’s correct!

The Bulgarian language origins from Old
Slavonic as the other Slavic languages. That is
why they have common vocabulary.

For example: From the Old Slavonic *korva
(cow) now 1n Slavic languages there are:

- kpaBa |krava] (Bulgarian)

- koposa [karova] (Russian)

- krowa [krova] (Polish)

CEES




That’s all!

Thank you! ©




